
 

Practise 

Stage 4      Basic Facts No 2 

Strategy: Subtraction Facts from 10 

 

4 – 1 = 
 
10 – 3 = 
 
7 – 2 = 
 
8 – 4 =  
 
7 – 2 = 
 
8 – 4 = 
 
5 – 4 = 
 
10 – 7 = 
 
9 – 4 = 
 
10 – 4 = 
 
7 – 6 =  

 

4 – 2 = 
 
10 – 10 = 
 
6 – 3 = 
 
7 – 4 = 
 
10 – 5 = 
 
10 –          = 4 
 
10 –             = 6 
 
7 –             = 1 
 
6 –             = 4 
 
8 –             = 2 
 
8 –             = 5 

 

4 + 3 = 
 
3 + 2 = 
 
1 + 0 = 
 
5 + 2 = 
 
5 + 3 = 
 
2 + 5 = 
 
10 + 0 = 
 
5 + 5 = 
 
1 + 8 = 
 
6 + 4 = 
 
1 + 2 = 

 

Strategies for solving these problems:  

• Try to think of the numbers quickly in your head. 

• Count down from the biggest number. For example 9 – 3 = can be 

solved by counting down from 9 – 9, 8 , 7… = 6 

• If you need to, use your fast fingers. 

 

  

 


